Outline of Test Procedure for 61850-90-5 Clients and Servers
I. Static conformance

a. PICS

b. MICS

c. PIXIT

d. TICS

e. Declaration as server

f. Declaration as client

g. Declaration as PDC (is this different?)

II. Object Model checks

a. Basic LD with LPHD1, LLN0, {MMXUn or MSQIn}

b. Dataset declaration for GOOSE and/or SV

c. Control Blocks for RS and RG (R-MSVCB or R-GOCB, etc.)

III. Communications

a. Ensure cyclic data sent as SV, acyclic as GOOSE (specifically, cyclic cannot be GOOSE)
b. UDP and/or TCP support (is there another type of tunneling?)

c. IPv4 and/or IPv6

IV. SCL file usage

a. Server -> ICD -> Client

b. Server -> IID -> Client

c. Server (( SED (( Client

d. CID -> Server or Client

V. Performance

a. Supported cyclic rates (1,2,3,4,5,6,10,15,20,30,60,120,240) {is this the right list?)

b. HSR and/or PRP

c. Filtering/accuracy class: M (metering) or P (Protection)

Open questions:

1. Should test procedure be structured similarly to 61850-8-1 server and client?

2. Are there items in the list which present challenges for testing (ISO connectionless transport scares me because it was part of GSSE)

3. What should PICS include? I think we should minimize PIXIT to be only for testing (“how do you cause a device to emit a …”)

4. Are there functional states to check (Mod, Beh)

5. What about test bits (for example, the GOOSE simulation bit)? 

